Dror Bar-Natan: Academic Pensieve; 2017-09:

Pushforwards on Sep 14

September 14, 2017 8:51 AM

Cheat Sheet Pushforwards

http://drorbn.net/AcademicPensieve/2017-09/one/Pushforwards_on_Sep_14.pdf

http://drorbn.net /AcademicPensieve/2017- 69/
modified Sepember 13, 2017,

T, £,
T2, 12, 2, &2)

Dy =~ exponentials
l q) , * Z
"

Y N
(ma.d)| Ug)

Definition. PS :=(Power Series).

For a vector space V, let Dy(V) denote the space of distributions
on V whose support is {0}. Via the Laplace transform Dy(V) can
be identified with S(V); we have Ly : Dy(V) — S(V).
Challenge. With ®: V — W a PS map near 0 (so & €
morps(V — W) := WaS*(V*) and with Dy € Dy(V), understand
DO.Dy € D(W).

Challenge. With @ = (¢;(e;)) and Z = ((d,,), set O, Z =
=P (ap)| L With (@, i, i, 19) 1= @ Dy D D), cOM-
pute/implement @, Z, with

Z = wexp (Z Ajjtiaj + Z qijyixj + €Po).
Aij€Z, w,qij € R := Q(T; = &"), Py € Rlaj, y;, x;], and

@) = Y whaj+ePy,

@) = ) wim+ePy,

O'E) = Y Ui+ eps,

(7)) deurj +Zy,ﬂ),£ + ePy,
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dla.'jid' € Z,y** € R, P14 € Qlxi,yil. P23 € Rlxi.yil. vij € R.
Example. 2017-07/Multi-beta-yax.nb: In U153 where g = &,
[17, eMemeefi™ = eMeete™, with

no= mAme" = Byméne™™ + =gy + T

a = ) +a+2Bmé to.= ay +ax—2(B+logd) [y

£ = £ 1 8 - PymEle T + .. = 6P + &

T = —p& +PméE (ymér + D2+, = (B+1ogd) /(By)

and 6 = ((eﬁ - l)yr;z& + e”]_l =1-(1+ym&)B+...
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